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asiti7 o As the temperature of a substance decreases,

Density Notes
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o Which of the following is the most dense?
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ESFET I[ Base your answer to the following question on
the Earth Science Reference Tables.
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Water has its greatest density at a temperature
of
(1) -6°C (3) 32°C
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o As the temperature of a substance increases,
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o Floating and Sinking

o LPQS(OVé’Wﬁﬁ 06}}4@:7[5 will Froot
eXo [ceoinoodl n woter~
o More dense obyects (il Sink .

e Mot rocke Wil Siak 1n water -
®




o If the object and the fluid are equally dense,
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The diagram below shows a glass jar confaining

N a clear liquid and a floating rock,
M
‘piy?Wé i RAGK
cpntaring s

Which conclusion about the relative density of
ock and the liquid is frue?
he rock is less dense than the liquid.
(2} The rock is more dense than the liquid.

(3} The rock and the liquid have the same
density.
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o Example # 1 The mass of an object is 13.5 grams and its
volume is 4.2 milliliters. Round your answers to the
nearest tenth.

1. Write the formula: BQ&’%SJ;}'L/ . WG
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2. Substitute the numbers:

3. Do the math:

4. Units/Rounding:
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The diagram below represents a rectangular
V — % W ¥ I object with a mass of 450 grams. According to
4 D the Earth Science Reference Table, what is the
S S density of the object?
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NOT DRAWN TO SCALE

(1) 1 gram per cubic centimeter
2 grams per cubic centimeter
3 grams per cubic centimeter

(4) 4 grams per cubic centimeter

PDensity (continued)
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Or SHAPE

olf you cut an object in half its density will
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oProve it to yourself and calculate the densities of a wood block
and half of the wood block:

oWhole Wood Block
Mass = 20.0 grams

Vg_lume = 40.0 milliliters
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Half a Wood Block
Mass = 10.0 grams

Volume = 20.0@ |
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